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JAHANGIRPUR GANTRY

nalag,
c}"i-\b'-’;

NON-FOREST CALCULATION JAHANGIRPUR GANTRY TO AP4

Area: Length x Width
Area: 472,13 x 64 = 30216.32

Hectares = 3.021632

p = 26.29+69.36+64/2 = 79.825
Area= v(79.825*53.535*10.465*15.825) = 841.2592312

Hectares=0.084125923

p = 26.74+64+69.36/2 = 80.05
Area= v (80.05*53.31*16.05*10.69)= 855.6799983

Hectares=0.08556799983

Area: Length x Width
Area: 2190.4 x 64 = 140185.6

Hectares = 14.01856

p=66.17+16.79+64/2 = 73.48
Area= v (73,48%7.31*56.69*9.48)= 537.2799814

Hectares=0.05372799814

p=66.17+16.79+64/2 = 73.48
Area=v (73.48%7.31*56.69%9.48)= 537.2799814

Hectares=0.05372799814

Area: Length x Width
Area: 1742.23 x 64 = 111502.72
Hectares = 11.150272
11.150272-0.1912=10.959072 Hectares

Non forest-Forest=Non Forest

Ap-4

p=66.44+17.85+64/2 = 74.145
Area= v (74.145%7.705*56.295%10.145)= 571.1999933

Hectares=0.057119999
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D = 22.67+67.9+64/2 = 77.285 NON-FOREST CALCULATION AP5 AP9

Area= v (77.285*54,615*9.385*13,285)=725.43999
AP Hectares=0.072543999

7 Area: Length x Width
< Area: 159.09 x 64 = 10181.76
ot Hectares =1.018176

p = 64.244+64+5.65/2 = 66.895
Area= v (66.895*2.655%2.895*61.345)=177.5999999
Hectares=0.01775999999

P = 64.24+64+5.55/2 = 66.895

Area= v (66.895%2.655*2.895*61.345)=177.5999999
Hectares=0.01775999999

Area: Length x Width

Area: 1504.67 x 64 = 96298.88 €
Hectares =96298.88

p=13.79+64+64.47/2 = 71.13

Area=v (71.13*57.34*7.13*6.66)=440.0855695
Hectares=0.04400855695

p=13.79+64+64.47/2 = 71.13

Area=v (71.13*57.34*7.13*6.66) =440.0855695
Hectares=0.04400855695 Area: Length x Width

Area; 229.43 x 64 = 14683.52
Hectares =1.468352

p = 16.86+64+66.18/2 = 73.52

Area= v (73.52*56.66*9.52*7.34)=539.5199874
Hectares=0.05395199874

p = 16.86+64+66.18/2 = 73.52

Area= v(73.52*56.66%9.52*7.34)=539.5199874
Hectares=0.05395199874

Area: Length x Width
Area: 211.81 x 64 = 13555.84
Hectares =1.355584

p = 29.9464+70.64/2 = 82.27

Area=v (82.27*52.37*18.27*11.63)=956.8
Hectares=0.09568

p = 29.9+64+70.64/2 = 82.27

Area=v (82.27*52.37*18.27*11.63)=956.8

Hectares=0.09568 Area:1249.24 x 64 = 79951.36

% Area: Length x Width
Hectares =7.995136

Area: Length x Width
Area: 176.96 x 64 = 11325.44
Hectares =1.1326544

p = 25.24+64+68.8/2 = 79.02

Area= v (79.02*53.78*15.02*10.22)=807.6799943
Hectares=0.08076799943

p = 25.24+64+68.8/2 = 79.02

Area=v (79.02*53.78*15.02*10.22)=807.6799943
Hectares=0.08076799943

< Ap-9
p = 6.66+64.35+64/2 = 67.505

Area= v (67.505*60.845%3.155%3.505)=213.1199529
Hectares=0.0213.1199529




p = 6.66+64.35+64/2 = 67.505 NON‘FOREST CALCU LATION AP9 AP].O

Area=v (67.505*60.845%3.155*3.505)=213.1199529
Hectares=0.0213.1198528

Ap-8

Area: Length x Width
Area:4739.18 x 64 = 303307.52
Hectares =30.330752

Ap-10

p = 64.63+64+8.97/2 = 68.8

Area= v (68.8°4.17*4.8%50.83)=287.0399639
Hectares=0.02870399639




p = 64.63+64+8,97/2 = BB.8
Area=v (68,8%4.17°4.8"50,83) = 287.0399530
Huectares=0.02870393639

%, Hectares =28.110016

NON-FOREST CALCULATION AP10 TO AP14

Arear Langth x Width
Area:4392.19 x 64 = 281100,16

p=36.65+73.75+464/2 = 87.2
Aree=v (87.2°50.55"13.45°23.2)=1172.8

Hectares=0.1172.8 p=32.44+71,75+64/2 = 84.095

Area= ¢ (84.095%51.655°12.345"20.095) =1038.075997
Hectares=0.103807999

p = 64+32.22+71,75/2 = 83.985

Arga= v (83.985°19,985°51.765°12.235)=1031.034115

p = 36.65473.75+64/2 = 87.2 Hectares=0.1031034115

Arga= ¢ (37.2%60.55%13.45°23.2)=1172.8
Hectares=0.1172.8 Area:128.99 x 64 = 825536

Hectares =0.825536

Area: Length x Width
Area:1297.29 x 64 = 83026.56
Hactaras =8.302656

Area:231.5 x 64 = 14816

Area: Length x Width

Hectares =1.4816

p = 68.27423.77+64/2 = 78.02

Area= »(78.02*9.75°54.25°14.02) =750,639998
Hectares=0.0760639958

p = 34.07+72.04+64/2 = 85.055 p=T72.04+33.07+64/2 = 84555
Area= v (85,055°50.985"13.015"21.055)=1050,1113] Area=v (84,555*12,515°51.485"20.555)=1058.239999
Hectares=0.109011131 Hectares=0.1058239899




p=68.27+23.77+084/2 = 78.02

ﬁl’;atzr:sl:%-fﬁ'dﬁég;ggzs"14.02)-TED.D39WB N O N = FO R EST CA LCU LATIO N AP 1 4 TO A P 1 T

Ap-14

R

Araa: Length x Width
Area:3215,25 x 64 = 205776
Hactares =205776

p = 64.28+6+64/2 = 67.14

Area=v (57.14"2.85"61.14"3.14)=19 1.9599989
Hactares=0.1919999989

p = 64.2846464/2 = 67.14
Area=v (67.14*2.86*61.14*3.14)=191.9995989
ectares=0.1919999989

p=66.71+18.83+64/2 = T4.77

Area= ¢ (74.77*8.06%55.94*10.77)=602.5599538
Hectares=0.06025599938

p = 66.71418.83+64/2 = 74,77
Area= v(74.77*8.06*55.94*10.77) =602 55999358
Hectares=0.06025599938

Area; Length x Width
Area:199.5%9x 64 = 12773.76
Hectares = 1.277376

Area: Length x Width
Area:2208.04x 64 = 141314.56
Hectares = 14.131456

p=64.64+64+9.1/2 = 68.87
Area= v(68.87*4.23%4.87*59.77)= 291.1999752
Hectares=0.02911999752
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NON-FOREST CALCULATION AP23/0 TO AP24/0

p=71.51+64-+31.9/2 = 83.705
apps  Area=v(83.705%12.195*19.705*51.805)=1020.8
s\, Hectares=0.1020.8

Area: Length x Width
Area:4620x 64 = 295680
Hectares = 29.5680

p = 64+64.94+11.04/2 = £9.99
Area= v (69.99*5.99*5.05*58.95)=353.2799593
Hectares=0.03532799593
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NON-FOREST CALCULATION AP25/0 TO AP26/0

p = 64+65.15+12.21/2 = 70.68

Area= v (70.68*6,68%5.53*58.47)=390.7199748
Hectares=0.03907199748
A

Area: Length x Width
Area:4813.79x 64 =308082.56
Hectares = 30.808256

p = 64+65.16+12.23/2 = 70.695

Area= v(70.695*6.695%5.5635%58.465)=391.3599949
Hectares=0.03913593949




NON-FOREST CALCULATION AP26/0 TO AP28/0
p = 64+65.16+12.23/2 = 70.695

A28 Area= v(70.695*6.695*5,535*58.465)=391.3599949
o2%%  Hectares=0.03913599949

Area: Length x Width
o Area:2676.09x 64 = 171269.76
% Hectares = 17.126976

p = 64+64.7+9.46/2 = 69.08
Area= v (69.08*5.08*4.38*50.62)=302.719963

Hectares=0.0302719963

p = B4+64.7+9.46/2 = £9.08
Area= v (69.08*5.08%4.38%59.62)=302.719963
Hectares=0.0302719963

p = 64+65.364+13.28/2 = 71.32
Area=v (71.32*7.32*5.96*58.04)=424.9599865
Hectares=0.04249599865

p = 64--65.36+13.28/2 = 71.32
Area=v (71.32*7.32*5.96*58.04)=424 9599865
Hectares=0.04249599865

p = 64+23.64+68.23/2 = 77.935
Area= v(73.935%13.935%54,295%9,705)=736.8111914
ectares=0.07368111914

Area: Length x Width '
Area:658.4x 64 = 4220.16
Hectares = 4.22016

p = 64+23.64+68.23/2 = 77.935
{ Area= v(73.935%13.935%54,295%9,705)=736.8111914
Ase. Hectares=0.07368111914

Area: Length x Width >

Area:356.1x 64 =22790.4

Hectares = 2.27504

Non forest-Forest=Non Forest

2.27904-0.1441=2,13494 Hectares
Area: Length x Width

Area:305.94x 64 =19580.16 l
Hectares = 1.958016

p = 64+68.98+25.74/2 = 79.36
Area= v (79.36*15.36%10.38%53.62)=823.6799964

Erat > Hectares=0.08236799964

Ap-28/0
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NON-FOREST CALCULATION AP45/0 TO AP52/0

(113999
2068863 9068863168
* pi,ba_‘,ﬁlﬂ*'& ! 'ﬂFZ 3
43

Hectares=

p=644+29.29+69.19/2 = 81.24
Area= v(81.24*17.24*51.95%12.05)=936.3536064
Hectares=0.09363536064

p=64+29.29+69.19/2 = 81.24

Area= v(81.24%17.24*51.95*12.05)=936.3536064
Hectares=0.09363536064

Area: Length x Width
Hectares =1.96512

p = 64+19.58+66.93/2 = 75.255

}q"qfea i Area 307.05x 64 =19651.2 Area= v (75.255*11.255*55.675%8.325)=626.5599969
feg 558ngy Hectares=0.06265599969
"fecta":i.? 3312’ ; W; » Ap-47/0
2

p = 64+19.568+66.93/2 = 75.255

Area= v(75.255*11.255%55.675*8.325)=626.5599969
Hectares=0.06265599969

Area: Length x Width
Area 210.26x 64 =13456.64
Hectares =1.345664 p = 64465.024+11.48/2 = 70.25

Area= v (70.25%6.25%5,23%58.77)=367.3599969

Hectares=0.03673599969

Area: Length x Width ————
Area 492.52x 64 =31521.28
Hectares =3.162128

p = 64+65.02+11.48/2 = 70.25
Area=y (70.25%6.25%5.23*58.77)=367.3599969
Hectares=0.03673599969

__ p=654+69.19+26.29/2 = 79.74

Area= v(79.74%15.74%10.55*53.45)=841.2799997
Hectares=0.08412799997

43%, p = 64+69.19+26.29/2 = 79.74
g 2 Area= v (79.74*15.74*10.55*53.45)=841.2799997
RN u, Hectares=0.08412799997
9‘5‘“ *6‘.;( ’95‘,5,
{255 Mo p = 64+8.15+64.52/2 = 68.335
0 g Area= v(68.335%4.335%60.185*3.815)=260.7999801

Hectares=0.02607999801

p = 644+8.15+64.52/2 = 68.335
Area= v(68.335%4.335*60.185*3.815)=260.7999801
Hectares=0.02607993801

Area: Length x Width 3
Area 1055.63 x 64 =67560.32

Hectares =6.756032 p = 64+26.2+69.16/2 =79.68
Area= v(79.68*15.68%53.48*10.52)=838.3999835

Hectares=0.08383999835

p = 64+26.2+69.16/2 =79.68

Area= v(79.68*15.68*53.48%10.52)=838.3999835
Hectares=0.08383999335

Area: Length x Width
Area 231.67 x 64 =14826.88 &

Hectares =1.482688

p = 64+66.52+18.13/2 = 74.325
Area= v (74.325%10.325*7.805%56.195)=580.1599975
ap-52/0 Hectares=0.05801599975
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NON-FOREST CALCULATION AP63/0 TO AP68/0

p = 64+18.3+66.56/2 =74.43
Area=v (74.43*10.43*56.13*7.87)=585.599977
Hectares=0.0585599977

Area: Length x Width
Area 228.6x 64 =14630.4

= 4 v & 8 = 3
Hectares =1.46304 p = 64+8.65+64.58/2 =68.615

Area= v (68.615%4.615%59.965*4.035)=276.7999932
Hectares=0.02767999932

p = 64+8.65+64.58/2 =68.615
Area= v (68.615%4.615%¥59.965%4.035)=276.7999932
Hectares=0.02767999932

Area: Length x Width
Area 810.22x 64 =51854.08
Hectares =5.185408

p = 64+73.48+36.1/2 =86.79
Area= v (86.79*22.79%13.31*50.69)=1155.2
Hectares=0.11552

S
il p = 64+73.48+36.1/2 =86.79
Area= v (86.79*22.79%13.31*50.69)=1155.2 ﬂgcaﬁl
Hectares=0.11552 L R 1A
b,’a‘?’q’q% N e Qf\(ﬁqg
Area: Length x Width -1k 07 %*Ej ‘E) s
Area 797.11x 64 =51015.04 &% oD @l 419 W97
&  Hectares =5.101504 ARl 58 1o AV g0l
»  Hectares =5. s 31 x%‘\,% 2o B ol 1ot ,\'rLg‘b 56
X0 o X e W a0 19 P od
© o o*" e ox%” & A9
9 B N Q. L 5>
nee? % Bkﬁgﬂréq*g%;b
199 1o oQ?
BD‘)JL o0 @ %‘3\'\'
0% o7 "'k ,.-()g%
pee \;a‘e‘af
e
Area: Length x Width S i

Area 257.36x 64 =16471.04

p= 64+7086+30|42/2 =82.64 Hectares =1.647104

Area=v (82.64%18.64*11.78*52.22)=973.4399982
Hectares=0.09734399982

Area: Length x Width
Area 580.21 x 64 =37133.44
Hectares =3.713344




E0G6HTLOTED O=S=4e10ay
EOBGETLOTE={61 1+ 15 65.£2 522 6) # =B3IY

2L609=2/E P9+ TG e = d

GLIBGY'GT= SaIejd8y
91185951 §9 X 65°9pYZ BAlY
YIPIA X yiBuaT Baly

HEBGGERSFRO 0=53.2)08
QEBEEER Shr=(6L LGe T2 9L LWTL TL) # =B0lY
TLTL=E/EETHGGa+p9 = d

QEBGEEN Shi=(6L"LGe T2 0 TL LT TL) » =BSUY
TUT= 2/eFET+5 59+ =d

SEIH FO66E5°LE = TRET' O-FI0F99' L2
158404 UON=1530{-]Sa40} UOH
¥90199° 2= sazeloay

PHOFI9LE= 9 X TS ZEEY BAKy

yipepy, x yidua teary

0/0.d¥ OL 0/89dY NOILVYINDTYD 1SIHO4-NON




BI8661TLS10 D="52u23H
BLABETT LS T={PT 19,95 755 2. 55"90) # =eauy

G550 16 PHETpI+E] =d

JIOBLE'TT= SauEday
IUOBLETT= p9 X #F'GS8T BNy
YIPIA % YyBua eany

EFGBESTITEN (=S84
EFEEEGTATE=(I 6505 P ZE G 2E'69) # =RaNY

ZE'E9= T/REBHIL I EPe = O

TWEEESTITEN D=SEIaY
CYEBEST ATE={Fb 5555 PaZE Go2E 60) # =Easy
ZE'60= Z/BE6+ILPOFPY = d

G FITEGE= PO X FY [LGE Ty
1P x YiBua] ieasy

DGEHSEGE LY I=FHRIIaY
9IBGEEGE SET =5 L+ B 0006749619 4 =B8Ny

G5 L9= 2R POHEF Lo =0

9RGSESERER0 D=SalejaaY
985665E HET= (25 E+85 094 96°E96 L) # =Baly
96 L= & PPt EpL+pa =d

SARIEH FOLEGPOT = ERZ20-FI0839'0T

0/€LdY OL 0/0LdV NOLLYINITVO 1SIH04-NON

158004 UDp=}58u04-15000) UOp
FRIERG0T= Sas2ay
FOORRI0T= ¥9 ¥ TO'0LIT 22y
UIPEA % YIEuaT ey

EUG66TLOTED J=Sa1e13aY 5
E0BS6TLOTE= (6L P+ 15 6522 5422 ) # =Cary

TR BAEL VIR TL e =d

'UWE‘“‘“




GIEGEERE0TY I=53ET0aH
GLE6GERG0T=(999"T,SEE 29,55, T.55L"59) » =pauy

sty SGIG9= Z/60'PI+ERE+rd =d

BOrPTEE TE= Saselday ,_,_ i
BO'PIBZIZ= p9 XZT'SZEE 2any |\ |
YIRIM X Bua ealy

BLZFIGET LE00 0=5312198H
GLEFS66T LI=(3TEQTH DN DWEr 9) 4 =eary
E4p9=2/S8UHTOFI P9 =d

GLEFIG6T LED0G=53re1aaH
BLIFIGETLT=(85" 90t 0uEF 0.E5 7] » =€RIY

EFP9= Z/38 0+ T0FI e =d

Y2069L 6T= Saeay
FEDGEILET= ¥9 ¥T6'BR0E Ay
1P X 1Fua] ey

LEBESS PS50 Q=108
L6655 PG =515 LoSEY IS4G IR BLGTREL) # =80y
CIE'EL= Z/EQ9+EE L T+pg =0

LSSTEY [= SRaY

SAERIAH 29 F0T T =B92E°0-Z55TEY'T
15810 UON=153404-]S850) LD}
ESSTEYT= ¥ X 89'EZE Ay
YIpIM * yrBua teay

LLGESERGG0 D=S2uejday
LI66SS FSS={ST5 LS8 95,5186, 518" EL) # =eany

GIEEL= Z/E99+EE I T+po =d

BUAGEITLSTIO=SRIay g
BLBEETT L ST={FI T8. 06 Z.552.55'99) » =221y gty
55°99= /TP FET I+ pa =d

0/92d¥ OL 0/€LdY NOLLYINDTVD 1SIHO4-NON




T
BTGIEEEEREN00=SURDaH G
BTG BEGE BE=(50F 9,565 0, S09°0,509°h9) # =221y
S0%°p9= /LT HT0PI+pe =d

SEEREL 1= Sam|zaY
leeeh x giFua ieary
BEERELL= PO XITEOTT 2By

BPL6E0TTZp0 0=Saumoay
BrLEE0T T2 —{ShI 5,556 5502 LG0T TN 4 =oary ok
SOUTL= ZAOTET+GTS0Hpg =d et

L3LBEL090R00=5318]23
LBL66L090b={80" 052" Gu 600 LB 0L) # =ERIY

L60L= 2 G BT +52'59+p5 = d

LE0B0L TE= saueday 74
TEOROLIZ= $O XET'SPSE BRI
WP ¥ WU i2any

LOBIGTEEITO 0=sar]2aH
LOG9BEE BIT={IP TOu ¥ Tal L Tol L'9G) & =uaTy
LL9%= 2/ TEGHES b9 +Hg = o

LOGSETAEIT0=531edey
LOS96TE6IT={9% 194G Ea L TolL'50) # =0BSY

L9g= g/ IE'SHET pa+pg = d

PREOG0LT= SHiRpIay
P EOSDLT= ] X1Z 7392 BRIy
HIRIA X B0 teasy

GIGRAEVEOT0 J=Sal2liay
GIEEEFGOT={509 T+ 5EE 29+ 55, T2 561 '5Y) » =B2uy

S50'6%= L 60rbe+erEFPa = d D%ty

0/¥8LdY OL 0/9.d¥ NOILYTNDTYOI LSIHO-NON




S6665/6220 0=S8.e108H
G6665.L622=(6EE«19°09+61"E+61"19) » =BIY

ot 6L°L9=¢/r¥9+8T L+#9 =d

81956.°07= Sese30aH
81°956102= 19 X ZE'6Y2E LAy
YIPIM X (pSua :ealy

76666.79.20"0=sa.e139H
TB666LY"9LZ=(L6"6G+E0 T+T9 +19°89) # =BaUY '\
19'89=¢/v9'8+85p9+yg =d s

85/68161820°0=S2a12}08
8G/6816'T82=(588'65+GT T ¥+G69'7.569'89) » =BalY
G69°89= Z/18°8+8G v9+#9 = d

TBITSY v= Salelday =
PETICr= F9 X T8°069 B=JY &
IPIA, ¥ yiBusT ieary

SEB666TERI0 0=S3481081
GEB666T°E89=(V6'8+90'GG= 17 CT+119L) » =B2UY
I79L= 2/ 19+GETZ+y9 = d

SaieldaH

g }sa

o

olsLy
GEBBOETERA0 D=S8.2108H

SEBBE6T CE8I=(F6'B+90°G8:TH L1 9L) » =BOUY )

W9L=2/LF 19+GET2+¥9 = d

O

616/666E8E00°0=S81108H
616.6665 8E=(501"£9:565 0509 0+509'19) » =ealy
S09%9=g/ZT+I0F9+r9 =d

CESEQS T=T81T'0-2E9T8LT

104 UON=153104-1S310} U0}
7£9T8. = S8IBI08H
ZE€'9T8LT= ¥9 X L£'8LZ B3y
YIPIM X YyBuaT seaty

_“___..“m_‘.ﬂ_ﬂ

0/18dY OL 0/¥8.dV NOILYTNITYD LSTHO4-NON




el

OPIG6EE G0 D=53uR1d8 o e
OPBEEEE FOtr={89" 1 Gl 0uaF L B8 1)) s =vary =17
BETL= /2T HO5' 59 +pg =d

ZEH9ES §= sareoay
EE'89E5E= PO XGFEEETRAMY
YIPig, ¥ yiBua teany

96656850 0=51e133
Q6666L BRG=(555"05.:5FF L+ S0 5500 'EL) # =03y
SOLEL= /ST LT+ 99+pg =d

95666 8FS070=5u=108

96666 B5={555' 95501 LG0L 62504 CL) # =Bauy
SOLEL= g/STLT+9Z'99+pg =4

SRIE0BH 9L THEE T=59E99 0-FS005 T

15350 UON=152104-15210) U0y

FRS005T= sareoay

FEGO0ST= 9 X Gp'pEE eauy

WP X iFua teay

9¥EEIENIE0D="581e)a

SPEETE D0Z=(520' 19546 2587 €+ 58271 0) » =RARY
82 19= 29T 1L p+Ho =d

IrEELEQ0E0 O=s=u8lday
OVEETED0E=(SE0 T+ 5.6 2. 582 €592 9) » =000y

SEEL9= 2/ 9T+ IEPS+FI = d
9689L6'¢= Saletlay

96'8%L 6= ¥9 ¥ §1"G0F B8y
YIpIas ® y1Buan reary

9598E0 0=saIEl0aH
GG 9BE=(GES 85 GLF 5 500'0.509°0L) » =22y
G090 = E/B0ZT+ET G+4g =d
959REII=Salelaal
95"08E={5Z5 "85, 5L 1550095000, ) » =BRIY
S090L= Z/R0ETHET §9+pG = d

e G= saIeay

ITZ68F5= +0 ¥ 69°157 ey
YIPIA X yaduan) teany

20666 P0FETD=53uB108H

EOER6LF DFE=(ZT" 6589 7+ 0. 5. 0.°69) #=B3ay
9065= Z/FI0I+38 ¥+ =d

T96EGLEOPED0=SAIRIaY  eow
29666LY OVE=(21 6580 P+9L'5.01'69) » =888y _ gl
9L69= Z/p00T+B8 pa g = d
218008 7= saiejaay
Z2°8099T= b3 X £L°06E BAY

2L8GRERETEI0=Fa12108)
EpI, X yiSua] eady

ZL866E 6TE~{G1 0945 E-29'E29'19) 4 =2BIY
29U9= Z/IBTHIEVGHS = d

CLBGRERGLL0 O=Sarejoay

ZLBGEEY BIZ=(GL 09452 EaZ9'EZT L0) e =201y g
29'19= /1 gHIEyatvg =d | [FTe
SOGBRENLLONI=SAIEIaH |

SHELFEEY LL=(S T 2958 T+ 552 TL5E2°59)» =2y
SEZ'59= E/ErT e+ = d

CORLSRERLLO0TD=531E133Y
SO6/BEEF 1L =518 29581 To5E2 To5E2'6Y) # =BaLY
SEL'99= Z/EVTHE0TI+yg = ¢ \;

FESHOFEITO0 0=SR1e193H 9

BESA0BET OT={S5E 051 '£0 592 V592 1) # =B3UY
G92°70= Z/T0FPI+IS0+re =d

9658 1= s2uepey

SURGIET= b9 ¥ ZT'ERE Sy
i yydua ey

ZEETSE T= saizloapy
TEETSET= 0 ¥ GZ'GRE ealy
UIPIA * YBusT teary

825R0GE90T00 0=52)elday

H25B08EY IT=(952 x5 E9-592° 0502 F0) » =ealy
GO Fe= 2/ T PHIS0+pg =d

FFETOLE= SsuRllaH
PRETOLE= ¥9 X TL'LEG BalY
g ¥ Y1duan) teany

LEBBRELLYENO=S=uR)2aH

TEBB6EE ZOE=(C0T G- GER'BG 55T '0.05T'0L) # =000y g
GST°0L= /66 FO+EETI+ea =d o

TEBGGEZLIE (=Sa1e100 B Fg

TE866E2 29E={G9T =G0 8565 T 0,551 0L) » =Bauy

SST0E= /66 F9+2E TT+Hp9 =d 8F9650'T= SaR1aY

S G a659T= kO X Nm.mmm ey
L I X uaT] :ea
£62666/9610°0=531210814 cl o e
ERZGEEL O6T=(526 250 T9.522°E.522 19) » =28y
ST 9= TIPS HST 0 =d
£EZH66L 96T (=5arej0ay

EGZB66L 06 T={56 24510 T+ 522 ESEE L9) # =2y
SZTTL9= Z/EFIHSTOHPY =0

HO950"F= Saleinay
P9950%= §9 X GE'ELY eAly
YIPIN ¥ yAuaT] Ay

S6665L62Z00=saIeBY TV
SEG65LBEE=(6E E+ 19096 E.51"1T) # =28uy
6L°09= Z/pI+HRT L Hpe =d

0/16dY OL 0/T8dY NOILYINITVI 1SIHO4-NON




9¢866€20680°0=Saie}08H
9¢866€2°068=(86"25+¢0'TT+8'9148°08) »=e81Y
8'08=¢/¢8°L¢+8L69+79 =d

88866E2¢CE0 0=Salel08H

88866E£2°CCE=(9E'6G+V9 7«EV ' G«xEF"69) » =BOIY
E¥'69=¢/L0°01+6/#9+19 = d

\ ... 88866E¢¢CEQ 0=SaR10a
88866EC°CCE=(9E'65+VI F+EV GxE7'69) » =BBIY
€¥'69=¢/L0°0T+6L79+¥9 = d

20866665£50"0=sa/e108H
2086666'GEG=(50L"99xG67 L xGGT 6«GG'S/) » =eBIY
GSY'€l=2/GL 9T+91°99++9 = d

2086666G£50° 0=s8ie108H
2086666'GEG=(S0."95+xG62"L+SST 6xG67°E L) # =palY
GS¥'€l=¢/G/9T+91°99+%9 = d

7.G661SE9T0"0=Sa1e100H
VLG66TG€IT=(G7S T9+5G"2+GG9°Z+GG999) » =eBIY
GG9'99=¢/TT'G+Z ¥9+v9 = d

¥.S5661GE9T0"0=S8le108H S8

V1696615 E€9T=(GS 195G 2+GG9'2«GG9'99) =ealY
GG9'99=Z/11'6+¢'¥9++9 =d

Z£88Y'7= Sa1e108
2'€8872= 79 X §'88¢ eIy
YIPIM X yiBuaT :ealy
£7956TG2GE0"0=5918108H
795616 ZGE=(550'65+G7 T G+G58'GxG58'69) # =ealy

GG8°69=2/8°01+16'79+¥9 = d
€V95961525€0'0=sa/e109H

EV9S6TS2GE=(G50'69xGP T GxGG8°G«GG8'69) » =ealY
GG8°69=2/8'0T+16'79+¥9 = d

217505 L= S818108H
ZL'YS0SL= 19 XEL°ZLTT BAIY

YIPIM X yl8uaT teauy

978666E¥S0 0=S94EJ08H

978666€ VSr=(89"LGx2E 9488 Lx88'T /) # =e3.Y
88'T/=2/T¥#1+95°G9+¥9 =d

Y,

NgGGg

o rE-dy

N 9€6€£98°0= saiejoay
RYE'6£98= 19 X 667 7ET BRIy
YIPIAA X Yyi8uaT realy

8898EG T= Sairloal
88°98E€G9T= %9 X ¢’ 0tr¢ BaJy
UIPIA X Yy18usT :ealy

¢SST.LY 1= salejoaH
S8IBJO8H ¢GGEVE T=082T'0-2GST.LV'T
188104 UON=]S8104-1S810J UON
¢S'STLVT= 19 X £6°6¢¢ eaJY
UIPIM X Y38uaT :eauy

0/96dY OL 0/T6dY NOILYTNITVYI LSIHO4-NON




£8B66TL0LRO D=S3e10a
Z8866TL°0.8=(99T €5«5E8'014GLE 9T45/E'08) » =eauy
SIE08=g/12 1e+PSa9+pg =d

ZTLT/G G= S8Iejaa ¢
ZULTLSG= 79 X85'0.8 eoly
YIPIM X LpBuaT tealy

966665SFTE0"0=S31e108H \
9666655 FTE=(97'65+F S T+62"Gx62'69) » =01y 5
62'69= Z/€8'6+5. 7949 =d

9666655y TE0 0=524E308

966665G FTE=(97 65+7G F+62 G+62°69) » =e0ly
62°69= Z/E8°6+GL V+79 = d

79091 0T= Saiejday )
7"909T0T= ¥9 X 9°/8G] eaiy '

4

YIPIM X Y1Bua] tealy ©

¢EEB9LTSIED O=5=aleloa
CEE69LT G9E=(508'859:502'Gx502'945T20L) # =BRUY
G12°0L=Z/TF TT+10°G9+10F9 = d

T9T8ELL EEE=(96Z 6S+STL V+GTL G+52L 69) » =BaMY
GZ2L°69=¢/EF 0T+10°G9+10F9 =d

Z5/9%5 gT= saie1day
297 9FSZT= 79 X EF 006 BoY

GIPIN X 415uaT reany

L2l 1#60LL60 0=531e]08
L2 IP60°LL6=(T9 TG+6E 2T+ T 8T<L1°28) » =81y

L1°28=Z/95°0£+8/'69+y9 =d

0/66dY OL 0/96dVY NOILYTNOTYD LS3IYO4-NON




G9866/82890"0=Sele108H
G9866.8°C89=(90°GG+176"8s¥ ¢ T«7"9.) » =BOIY
¥'al= N\._m.m._”Nl_i@.mw.h___lml_x._w@ =d 0/T07-G¥

Z2G6/TT'E= saieloay
¢96LTTE=¥9 X 8T"/8Y €RIY  /
YIPIA X YiSuaT (ealy A

68866.78970'0=Ss248109H
68866.17"8917=(90G"LS«xG67 9GP T 8xGV1°CL) »=BBIY

68866.789V0°0=S310100H .Y
68866.7'897=(909"L9xS67'9+GYT'8+571'2L) » =eAlY £ 0%
SPT'2L=2/Y9yT+G9°69+y9=d | ]

¢L¢90'7T= saiejosH
¢ LE90VT= P9 X E'L6T¢C ety
YIPIA X YiguaT ealy

Nwmmmﬁhohmc.oummhmwum_._ a.m.
¢8866T.L0L8=(99T°€G+GE]°0T«GLE 9T+GLE08) » =€y Lv-ﬂmm
GLE08=2/12Le+7569+Pg =d  wew

0/T0TdY OL 0/66dY NOILYTNIOTYO LSIHO4-NON




POBES0EGIEN (=5318108H
T0BCB0E 69E=(FGL BG«G5¢ G587 9582701 ) » =BIY
GRE0L= &/FSTI+EQ GO+ =d

969EEEGT= Sarepoay P
96'9EEEST= ¥9 X 68'GHEZ BALY
YIPIM X YiBuan tealy

CHEBGTSESRD0=5818)08
CBOEBTG 6G=(GT9 LG+58E 05656 T )~ =BalY
SLETL= Z/9EFT+65G9+F9 =d .

3

SBSLEEFTIP0 0=5alej0a
G8S/6EV TIF=(585"L9-5TF 950085002 L) » =e21y

G00EL= /W PT+E5G9+p0 = d

9G°0SZLE= ¥9 X 70285 Baly
YIPIM ¥ YiguaT teany

[EGBRENGS RO D=SE3a
TEAFEEN'SSh=(99"LSubE D BE L AT TL) A=Y
BB TL= ZIETPTHIS GG+ py = d

=S5IEpIaL o
o 186665129p00=5are10H Mhmm.ﬂ
186665 Z5F =500 LG SHT J4SER LaSERTL) A =2aly [ 5|

SERTL= Z/ETPTHIG 594y = 0 |

9689T9°ET= saizjoay
96°B9T9ET= 19 % p9L2TE =AY

UYIPIM X YyiBuaT teany

2127.64

S9B66.82890 0=s318]123H |

598668289~ (90'SG V6’8 TLei9L) 4 =Bo1y
V9L=Z/VETZHIVIGHI =0 o

0/70TdVY OL 0/T0TdY NOILYINDTYI LSFHO4-NON

2154




p= 54_'_55.03_,_11_54,:2 =70.285 NO N o FO R EST CALCU LAT' O N AP104/0 TO A Pl 1 1/0
Area= v (70.285%6,285*5.255*58, 754)=365.3082804
Hectares=0.03693082804

Area: Length x Width

Area 1045.75 x 64 =66928
Hectares =6.6928

Mon forest-Forest=Non Forest
6.6928-0.619=6.0738 Hectares

p = 64-+66.48+17.98/2 =74.23

Area= v (74.23%10.23*7.75%56.25)=575.3595948
2 Hectares=0.05753509048

Area=v (74.2056*10.205*7.725*56.275)=573,7597585

p = 64-+66.48417.93/2 =74.205
ﬁ Hectares=0.05737597585

Area: Length x Width
Area 491.99 x 64 =31487.36
Hectares =3.148736

{ p = 64-+68.76+25,18/2 =78.97

i Area= v (78.97*14.97*10.21*53,79)=R05.7598298
Hectares=0.08057598298

= 64+68.76+25.15/2 =78.955

Area=v (78.955"14.955*10,155*53.805)=803.2196219
Hectares=0.08032196219

421,99

Area: Length x Width
Area 1313.29 x 64 =84050.56
Hectares =8.405056

p = 64+466.12+16.6/2 =73.36
Arga=v (73.36%0.36*7.24*56.76)=531.1999949
Hectares=0.05311959949

p = 64+66.12+16.6/2 =73.36
Area= v(73.36"9.36%7.24%56.76) =531.1999949
Hectares=0.05311999949

54+64 36+6.78/2 =67.57

Area=" (67.57* *3.21*60.79)=216.9559916
Hectares=0.0 1659 g )=

v D= 64+E4 36+6.78/2 =67.57
Araa= v (67.57*3.57*3.21*60.79)=216.9599516
Hectares=0.0216.9599915
= 64+67.66+21.94/2 =T6.8
2 embig (76.8%12.8%9.14*54.86)=702.0799883
"»‘_,,  Hectares=0.07020799883

¢ p=64+67.66+21.94/2 =76.8
SR A (76.8*12.8*0.14*54.86)=702.0799883
Hectares=0.07020799883

= Area: Length x Width
e, Area 494.95 x 64 =31676.8
Hectares =3.16768

p = 64+67.46+21.32/2 =76.39

Area= v (76.39"12.39*8.93*55,07)=682.2399956
2, Hectares=0.06822399956

ot p = 64+67.46+21.32/2 =76.39

Area=v (76.39*12.39*8 93*55.07)=682,2393956
ectares=0.06822399956

p = 64464.36+6.82/Z =67.59

Area=v (67.59%3.59%3.23%60.77)=218.2309869
wuws Hectares=0.0218399869

Area. Length x Width
Area 231.73 x 64 =14830.72
Hectares =1.483072




e NON-FOREST CALCULATION AP111/0 TO AP116/0

Hectares=0.0218399869

p=64+66.71+18.82/2 =74.765

o Area=v (74.765*10.765*8.055*55.945)=602.2399999
é—|ectares=0.06022399999

Area: Length x Width
Area 318.55 x 64 =20387.2
Hectares =2.03872
Area: Length x Width
Area 214.98 x 64 =13758.72 o
Hectares =1.375872 i L

p=64+66.73+18.87/2 =74.8
Area=v (74.8*10.8*8.07%55.93)=603.8399655
Hectares=0.06038399655

p = 64+66.73+18.87/2 =74.8
Area=v (74.8*10.8*8.07%55.93)=603.8399655
Hectares=0.06038399655

Area: Length x Width
Area 1977.74 x 64 =126575.36
Hectares =12.657536

??741

p = 64+71.984-32.95/2 =84.465

Area= v (84.465*20.465%12.485%51.515)=1054.39999
Hectares=0.105439999

@& p=064+71.98+32.95/2 =84.465

.8  Area= v(84.465*20.465*12.485%51.515)=1054.39999
Hectares=0.105435999

Area: Length x Width
Area 159.49 x 64 =10207.36

Hectares =10.20736

p=64+70.36+29.22/2 =81.79

Area= v (81.79*17.79*11.43%52.57)=935.0399826
Hectares=0.09350399826

""”“ p = 64470.36+29.22/2 =81.79

Area= v(81.79%17.79*11.43*52.57)=935.0399826
Hectares=0.09350399826

Area: Length x Width i
Areall88.39 x 64 =76056.96 SE ~ gy
Hectares =7.605696

p = 64+34.44+72.68/2 =85.56

Area= v(85.56%21.56%51,12%12.88)=1102.079398
Hectares=0.1102079998




NON-FOREST CALCULATION AP116/0 TO AP122/0

p = 64+34.444+72.68/2 =85.56

Area= v (85.56%21.56*51.12%12.88)=1102.079998
ﬂ@ ¢ Hectares=0.1102079998

Ap-116/0

Area: Length x Width p = 64+69.22+26.37/2 =79.795
Areal76.47 x 64 =11294.08 u

Area= v (79.795%15.795*10.575*53.425)=843.84
Hectares =1.129408 2 Hectares=0.084384

ApeLL/D p - 64+69-22+26-37/2 =79.795

7oLl

i

p=64+17.2+66.27/2 =73.735

Area= v (73.735%9.735%56.535%7.465)=550.3999991
Hectares=0.05503999991

Area: Length x Width
Arealb3.21 x 64 =9805.44

p = 64+17.24+66.27/2 =73.735
Hectares =0.980544

Area= v (73.735%9.735%56.535*7.465)=550.3999991

Area: Length x Width Hectares=0.05503999991

Area217.78 x 64 =13937.92 . p = 64+66.13+16.66/2 =73.395
Hectares =1.393792

Area= v (73.395*9.395%7.265%56.735)=533.1199916
Hectares=0.05331199916

Area: Length x Width
Area 192.27 x 64 =12305.28

p = 64+66.13+16.66/2 =73.395
Hectares =1.230528

Area=v(73.395%9.395*7.265*56.735)=533.1199916
Hectares=0.05331199916

p=64+29.41+70.43/2 =81.92

Area= v(81.92*17.92*%62.51*11.49)=941.1199895
Hectares=0.09411199895

Area: Length x Width
Area 242,98 x 64 =178.98

Hectares =0.017898

p = 64+29.41+70.43/2 =81.92

Area= v(81.92*17.92*52,51%11.49)=941.1199895
Hectares=0.09411199895

Area: Length x Width

Area 227.42 x 64 =14554.88

p = 64+64.3+6.22/2 =67.26
Hectares =1.455488

Area=v (67.26%3.26*2.96*61.04)=199.0399938
Hectares=0.01990399938

Ap=122/0

p = 64+64.3+6.22/2 =67.26
Area= v (67.26*3.26%2.96%*61.04)=199.0399938
p = 64+67.35+20.98/2 =76.165

Hectares=0.01990399938
Area=v (76.165%12.165*8.815*55.185)=671.3599991
Hectares=0.06713599991




NON-FOREST CALCULATION AP122/0 TO / FATEHABAD GANTRY

p = 64+67.35+20.98/2 =76.165
Area=v (76.165%12.165*8.815*55.185)=671.3599991

Hectares=0.06713599991

Ap-122/0

P = 64+66.84+19.26/2 =75.05
Area= v (75.05*11.05*8.21*55.79)=616.3199794

Area: Length x Width Hectares=0.06163199794

Area 253.32 x 64 =16212.48

Hectares =1.621248
Area: Length x Width

% Area 242.9 x 64 =15545.6
@ Hectares =1.55456

P = 64+66.84+19.26/2 =75.05 .
Area= v(75.05%11,05*8.21*55.79)=616.3199794
Hectares=0.06163199794

Area: Length x Width
Area 493.87 x 64 =31607.68
Hectares =3.160768

P =64+64.42+7.34/2 =67.88
Area= v (67.88*3.88*3.46*60.54)=234.8799995

Hectares=0.02348799995

P = 64+64.45+7.31/2 =67.88
Area= v(67.88*3.88%3.43*60.57)=233.917453

Hectares=0.0233917453

Area: Length x Width

Hectares =2.12128
Area 331.45 x 64 =21212.8

P = 64+68.19+23.54/2 =77.865
Area= v(77.865*13.865%9.675*54.325)=753.2799973

Hectares=0.07532799973

P = 64+68.19+23.54/2 =77.865
Area= v (77.865%13.865%9.675*54.325)=753.2799973

Hectares=0.07532799973

P =64+71+30.74/2 =82.87
Area= v(82.87*18.87*11.87*52.13)=983.6799999

Hectares=0.09836799999

Area: Length x Width
Area 435.4 x 64 =27865.6

Hectares =2.78656 .
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,P= 64+68.87+94.02/2 =113.445

&
ﬁ Area= v (113.445%49.445%44,575*19.425)=2203.839993
Hectares=0,2203839993

P = 64+68.87+94.02/2 =113.445
Area= v (113.445%49.445%44,575%19.425)=2203.839993

Hectares=0.2203839993

Area: Length x Width

Area 85.85 x 64 =549.44

Hectares =0.54944

Non forest-Forest=Non Forest
0.54944-0.17218=0.37726 Hectares

#p-127/0

P = 64+65.88+15.62/2 =72.75
Area=v (72.75*8.75%6.87%57.13)=499.8399977

Hectares=0.04998399977

P = 64+65.88+15.62/2 =72.75
Area= v (72.75*8.75*6.87*57.13)=499.8399977

Hectares=0.04998399977

P = 64+71+30.74/2 =82.87
Area= ,(82.87%18.87*11.87*52.13)=983.6799999

Hectares=0.09836799999




